In your opinion, who i going to win the upcoming federal election?

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The New The Bloc | The Green The Orsome | Would not
Conservati Democratic| Quebecois [ Party People's |other party | vote/None | Know/Not
ve Party Party (8Q) Party of /Would
(NDP) Canada spoil ballot
A B C D E F G H | J K L M N 0 P Q R
Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183
Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
371 200 171 80 131 160 38 88 149 96 234 35 37 21 7 12 a4 4 17
The Conservative Party 25% 29% 22% 19% 24% 31% 18% 22% 29% 26% 64% 9% 14% 22% 14% 32% 28% 8% 9%
B cD * G KLMQR KR* ** b ** *
536 267 269 156 206 174 49 144 177 166 44 303 85 33 24 12 1 7 28
The Liberal Party 36% 39% 34% 37% 38% 34% 23% 36% 35% 46% 12% 76% 31% 35% 49% 30% 7% 12% 14%
* FGH JLMQR JarR Jar* ** ** ** *
113 60 54 69 28 16 30 35 30 18 16 4 82 2 2 - - 2 5
The New Democratic Party (NDP) 8% 9% 7% 16% 5% 3% 14% 9% 6% 5% 4% 1% 30% 2% 4% - - 4% 2%
DE HI* 1 K JKMQR * ** b ** *
12 9 3 4 7 1 - 3 6 3 1 3 2 6 - - - - -
The Bloc Quebecois (BQ) 1% 1% * 1% 1% * - 1% 1% 1% * 1% 1% 7% - - - - -
14 9 5 11 3 - 7 4 1 2 2 3 1 1 8 - - - -
The Green Party 1% 1% 1% 3% 1% - 4% 1% * 1% 1% 1% * 1% 16% - - - -
9 6 3 1 7 1 4 1 3 1 1 - - - - 8 - - -
The People's Party of Canada 1% 1% * * 1% * 2% * 1% * * - - - - 22% - - -
4 - 4 3 1 - 3 - 1 - 1 - - - - - 3 - -
Other * - 1% 1% * - 2% - * - * - - - - - 23% - -
1 - 1 - - 1 - - - 1 - - - - - - - 1 -
Nothing . R . - R * R - R * R - R - R - R 1% R
423 143 280 102 162 159 78 124 143 78 66 50 68 31 8 6 6 42 147
Don't Know/Not sure 29% 21% 36% 24% 30% 31% 37% 31% 28% 21% 18% 12% 25% 33% 17% 16% 42% 75% 75%
A * 1 | K JK* ** o ** JKLM* JKLM
1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




To what extent do you agree or disagree with the following statements? - We should not be having an election during a pandemic

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The New | TheBloc | The Green The Orsome | Would not
Conservati Democratic| Quebecois [ Party People's |other party | vote/None | Know/Not
ve Party Party (8Q) Party of /Would
(NDP) Canada spoil ballot
A B C D E F G H | J K L M N 0 P Q R
Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183
Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
1021 477 544 226 390 405 130 283 360 248 277 240 195 78 31 20 9 43 129
Top 2 Box (Net) 69% 69% 69% 53% 72% 79% 62% 71% 71% 68% 76% 60% 71% 83% 64% 52% 59% 77% 66%
533 242 291 87 201 244 68 154 195 115 185 79 98 47 19 16 7 19 61
Strongly agree 36% 35% 37% 20% 37% 48% 33% 39% 38% 32% 51% 20% 35% 51% 39% 43% 50% 34% 31%
C o) * I KLR K KLR* ** ** ** K* K
489 235 253 138 190 161 61 130 165 132 92 160 98 30 12 3 1 23 68
Somewhat agree 33% 34% 32% 32% 35% 32% 29% 32% 32% 36% 25% 40% 35% 33% 25% 8% 9% 42% 35%
462 217 245 202 155 105 80 116 149 116 86 158 80 15 18 18 6 13 67
Bottom 2 Box (Net) 31% 31% 31% A47% 28% 21% 38% 29% 29% 32% 24% 40% 29% 17% 36% 48% 41% 23% 34%
306 143 163 137 99 70 43 72 104 88 46 112 59 13 12 5 3 9 46
Somewhat disagree 21% 21% 21% 32% 18% 14% 20% 18% 20% 24% 13% 28% 21% 14% 25% 13% 23% 17% 23%
155 74 82 65 55 35 37 44 46 28 40 46 21 2 5 13 3 4 21
Strongly disagree 10% 11% 10% 15% 10% 7% 18% 11% 9% 8% 11% 11% 8% 2% 11% 35% 19% 6% 11%
1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




How certain are you that this is the party that you will actually support on Election Day?

Total Male Female 18-34 3554 55+ <HS HS PostSec | UnivGrad |  The TheNew | TheBloc | TheGreen | The Orsome | Would not
Conservati Democratic| Quebecois | Party | People's |other party | vote/None | Know/Not
ve Party Party (8Q) Party of /Would
(NDP) Canada spoil ballot

A B C D E F G H | ) K L M N o P Q R
Base: Decided Voters Leaners (unwtd) 1271 576 695 299 537 435 48 183 558 482 337 415 336 105 38 29 10 - 1
Base: Decided Voters Leaners (wtd) 1232 609 623 360 442 429 167 308 427 330 363 398 275 93 49 38 15 - 1
1097 556 541 307 393 397 140 278 379 300 329 370 230 83 a1 30 14 - -
Top 2 Box (Net) 89% 91% 87% 85% 89% 92% 84% 90% 89% 91% 91% 93% 84% 90% 84% 79% 95% - -
B c A L L - - - - -
657 344 313 149 217 201 81 159 231 187 209 219 120 57 2 20 10 - -
Absolutely certain / | already voted 53% 56% 50% 41% 49% 68% 48% 52% 54% 57% 58% 55% 44% 61% 45% 53% 64% - -
=) * L L * - = - -
441 212 228 158 176 107 60 119 148 114 120 151 110 27 19 10 5 - -
Fairly certain 36% 35% 37% 44% 40% 25% 36% 39% 35% 35% 33% 38% 40% 29% 39% 26% 31% - -
E E B - - - - -
134 53 81 53 49 32 27 30 49 29 34 28 45 10 8 8 1 - 1

Bottom 2 Box (Net) 1% 9% 13% 15% 11% 8% 16% 10% 1% 9% 9% 7% 16% 10% 16% 21% 5% - 100%
A E * K * - = - -
116 a7 69 50 a1 24 2 25 43 24 30 25 35 9 7 8 1 - 1

Not very certain 9% 8% 1% 14% 9% 6% 14% 8% 10% % 8% 6% 13% 10% 15% 21% 5% - 100%
E A K - - - - -
19 6 12 3 8 8 3 4 6 6 5 3 10 * 1 - - - -
Not at all certain 2% 1% 2% 1% 2% 2% 2% 1% 1% 2% 1% 1% 4% * 1% - - - -
* X * - = - -
1232 609 623 360 442 429 167 308 427 330 363 398 275 93 49 38 15 - 1

sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100%




To what extent do you agree or disagree with the following statements? - I don't really like any of the parties in this election

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The New | TheBloc | The Green The Orsome | Would not
Conservati Democratic| Quebecois [ Party People's |other party | vote/None | Know/Not
ve Party Party (8Q) Party of /Would
(NDP) Canada spoil ballot
A B C D E F G H | J K L M N 0 P Q R
Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183
Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
690 305 384 206 261 223 97 174 241 178 161 144 116 45 24 22 12 a4 121
Top 2 Box (Net) 46% 44% 49% 48% 48% 44% 46% 43% 47% 49% 44% 36% 42% 49% 50% 59% 77% 80% 62%
* K* ** b ** JKLMR* JKL
187 72 115 49 80 58 20 52 73 42 39 19 31 11 5 9 7 21 44
Strongly agree 13% 10% 15% 11% 15% 11% 10% 13% 14% 11% 11% 5% 11% 12% 11% 23% 48% 38% 22%
A * K K K* ** ** ** JKLM* JKL
503 234 269 157 182 165 77 122 168 136 122 124 85 34 19 14 a4 23 77
Somewhat agree 34% 34% 34% 37% 33% 32% 36% 31% 33% 37% 33% 31% 31% 37% 39% 36% 30% 42% 39%
794 389 405 222 284 288 113 226 269 186 203 254 159 48 24 15 3 11 76
Bottom 2 Box (Net) 54% 56% 51% 52% 52% 56% 54% 57% 53% 51% 56% 64% 58% 51% 50% 41% 23% 20% 38%
* QR MaR QR Q* ** ** ** * Q
523 241 281 158 185 180 58 149 189 126 130 154 104 37 22 10 3 5 56
Somewhat disagree 35% 35% 36% 37% 34% 35% 28% 37% 37% 35% 36% 39% 38% 40% 44% 28% 23% 9% 29%
271 147 124 65 98 108 55 77 79 60 73 100 55 11 3 5 - 6 19
Strongly disagree 18% 21% 16% 15% 18% 21% 26% 19% 16% 17% 20% 25% 20% 12% 6% 13% - 11% 10%
1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




Using a 1-to-10 scale, where 10 means you are completely certain you will vote and 1 means you are completely certain you will NOT vote, how likely are you to vote in the upcoming federal election?

_ ; i
Conservati Democratic| Quebecois | Party
ve Party Party (8Q) /Would
(NDP) spoil ballot
A 8 c D 3 F G H | ] K L M N 0 P Q R
Base: All Answering (unwtd) 1498 653 845 324 603 571 69 257 665 506 339 388 323 %0 4 32 10 59 180
Base: All Answering (wtd) 1516 722 794 409 518 588 227 439 513 337 381 380 278 7 52 36 18 65 194
1222 557 664 319 401 501 151 319 446 306 343 333 242 67 22 28 15 13 123
Top 4 Box (Net) 81% 77% 84% 78% 77% 85% 66% 73% 87% 91% 90% 88% 88% 91% 82% 79% 83% 20% 63%
A (o] * FG FGH QR QR QR QrR* QR* ** e * Q
1166 532 634 283 386 497 151 2% 428 291 329 320 233 66 37 27 15 1 113
Top 3 Box (Subnet) 7% 74% 80% 69% 74% 85% 66% 67% 84% 87% 86% 84% 85% 90% 71% 74% 83% 16% 58%
A ) * FG 3 NQR NGR NQR NQR* a* = - - Q
1055 a77 578 237 344 474 130 260 400 266 309 287 210 59 37 2 15 9 %0
Top 2 Box (Sub-subnet) 70% 66% 73% 58% 66% 81% 57% 59% 78% 79% 81% 75% 7% 79% 71% 68% 83% 14% 46%
A c ) * FG G ar ar ar Qar* ar* - - * Q
933 426 506 189 304 440 109 27 361 236 282 257 173 55 31 2 1 9 75
10- Completely certain | will vote (10) 62% 59% 64% 6% 59% 75% 48% 52% 70% 70% 74% 68% 63% 74% 60% 66% 58% 14% 39%
c ) * FG 3 LR QR ar QR QrR* = - - Q
123 51 72 8 40 34 21 33 39 29 26 30 37 4 6 * 4 - 15
9 8% 7% 9% 12% 8% 6% 9% 8% 8% 9% 7% 8% 13% 5% 1% 1% 25% - 8%
E 0 Q. B g - - -
111 55 56 6 41 23 21 36 29 2 20 34 23 7 - 2 - 1 23
8 7% 8% 7% 1% 8% 4% 9% 8% 6% 8% 5% 9% 8% 10% - 7% - 2% 12%
€ £ B N* + - - * m
56 26 30 36 16 4 - 23 18 15 14 12 10 1 6 2 - 2 10
7 4% 4% 4% % 3% 1% - 5% 3% 4% 4% 3% 3% 1% 1% 4% - 3% 5%
DE 3 * 3 3 - " e - -
113 66 a7 35 58 20 32 39 30 12 20 29 20 2 9 8 - 6 20
Mid 3 Box (Net) 7% 9% 6% 8% 11% 3% 14% 9% 6% % 5% 8% 7% 3% 17% 21% - % 10%
B € £ e 1 . ™ - - .
30 19 1 12 12 6 7 1 9 2 4 3 12 1 4 - - 3 5
6 2% 3% 1% 3% 2% 1% 3% 3% 2% * 1% 1% 4% 1% 8% - - 4% 2%
- 1 K - x* - - -
70 37 33 20 37 13 21 26 13 9 13 2 6 1 4 8 - 1 15
5 5% 5% % 5% 7% 2% 9% 6% 3% 3% 3% 6% 2% 2% 7% 21% - 1% 8%
E T M . - - - . L
14 10 3 3 9 1 4 1 7 2 4 4 2 - 1 - . 3 .
4 1% 1% * 1% 2% * 2% * 1% * 1% 1% 1% - 3% - - 4% -
3 * - * - - R
108 54 54 29 a1 38 17 54 26 1 15 7 9 2 1 - - 37 12
Bottom 3 Box (Net) 7% 8% 7% 7% 8% 6% 8% 12% 5% 3% 4% 2% 3% 2% 1% - - 56% 6%
* HI * * - = | IKLMNR* K
1 6 6 7 1 3 - 7 2 2 4 2 1 - - - - 4 1
3 1% 1% 1% 2% * 1% - 2% - 1% 1% 1% - - - - - 6% *
* - + - - KR
97 49 48 2 40 35 17 47 2 9 1 B 9 2 1 - - 32 1
Bottom 2 Box (Subnet) 6% 7% 6% 5% 8% 6% 8% 1% 5% 3% 3% 1% 3% 2% 1% - - 50% 6%
* HI * * - = | IKLMNR* K
1 3 7 3 4 3 - 5 4 1 2 - 3 - 1 - - - 5
2 1% * 1% 1% 1% 1% - 1% 1% * - - 1% - 1% - - - 2%
* - * - - - X
86 6 a1 19 36 31 17 a1 20 8 9 B 5 2 - - - 32 6
1- Completely certain | will not vote (1) % 6% 5% 5% 7% 5% 8% 9% 4% 2% 2% 1% 2% 2% - - - 50% 3%
" HI * - - = IKLmMNRT
7 44 28 27 17 28 27 27 1 7 2 1 3 3 - - 3 B 40
Don't Know 5% 6% 4% 7% 3% 5% 12% 6% 2% 2% 1% 3% 1% 5% - - 17% 15% 2%
HI* HI J i’ * = = IKN® | IKLMN
1516 722 794 409 518 588 227 439 513 337 381 380 274 74 52 36 18 65 194
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

82 84 7.7 8.1 8.6 7.1 75 838 9 9.1 8.8 89 8.9 8.7 87 3 65
Mean (incl. 0)
A =) * FG G QR QR QR QR* Qr* * * Q
.0 3.08 3.26 2.88 3.14 3.06 3 375 3.48 255 227 21 236 216 254 2 2.07 379 3.47 4.01
. Dev.
sk 0.08 0.12 0.1 0.16 0.13 0.12 0.25 0.17 0.11 0.12 0.11 0.12 0.13 0.29 0.28 0.35 0.89 0.43 0.29
. Err.
86 85 87 83 84 9.1 8.1 8 9 9.1 9.1 9.1 9 9.4 8.7 87 9.7 35 8.2
Mean (Excl. 0)
o * FG G QR QR QR QR* a* * h * Q
.0 253 2.63 243 245 271 234 2.82 2.99 222 1.87 2 1.83 1.93 165 2 2.07 0.47 351 252
. Dev.
0.07 0.1 0.09 0.13 0.12 0.1 0.2 0.15 0.1 0.1 0.1 0.1 0.12 0.2 0.28 0.35 0.12 0.47 0.2

Std. Err.




And, assuming you can't vote for your first choice, which party would you support as a second choice?

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The New | TheBloc | The Green The Orsome | Would not
Conservati Democratic| Quebecois [ Party People's |other party | vote/None | Know/Not
ve Party Party (8Q) Party of /Would
(NDP) Canada spoil ballot

A B C D E F G H | J K L M N 0 P Q R
Base: Decided Voters Leaners (unwtd) 800 336 464 185 361 254 32 121 374 273 199 252 235 60 27 19 7 - 1
Base: Decided Voters Leaners (wtd) 779 370 409 227 297 255 107 204 282 185 217 247 201 48 33 19 13 - 1
195 94 101 45 83 68 11 54 74 56 49 117 - 9 18 1 - - -
The New Democratic Party (NDP) 25% 25% 25% 20% 28% 26% 10% 26% 26% 31% 23% 47% - 18% 56% 8% - - -
98 46 52 33 43 22 3 25 39 31 23 - 64 8 3 - - - -
The Liberal Party 13% 12% 13% 15% 14% 8% 3% 12% 14% 17% 11% - 32% 16% 9% - - - -
96 43 53 41 35 20 20 26 31 20 17 32 39 5 3 - - - -
The Green Party 12% 12% 13% 18% 12% 8% 18% 13% 11% 11% 8% 13% 19% 11% 10% - - - -
78 41 36 19 40 18 8 22 27 21 - 30 24 6 3 12 2 - -
The Conservative Party 10% 11% 9% 8% 14% 7% 7% 11% 10% 11% - 12% 12% 13% 10% 64% 14% - -
21 12 8 14 3 4 7 7 6 1 11 4 3 - 3 - - - -
The Bloc Quebecois (BQ) 3% 3% 2% 6% 1% 1% 7% 3% 2% * 5% 1% 1% - 9% - - - -
60 35 25 23 24 13 10 14 23 13 31 4 17 2 1 2 3 - -
'Some other party 8% 9% 6% 10% 8% 5% 10% 7% 8% 7% 14% 2% 8% 4% 3% 9% 25% - -
232 99 133 51 70 111 49 57 82 44 84 60 55 19 1 4 8 - 1

Don't Know/Not sure 30% 27% 32% 22% 24% 43% 45% 28% 29% 24% 39% 24% 27% 38% 4% 19% 61% - 100%
779 370 409 227 297 255 107 204 282 185 217 247 201 48 33 19 13 - 1

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100%




To what extent do you agree or disagree with the following statements? - Leaders’ performance at the debates solidified my vote choice

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The New | TheBloc | The Green The Orsome | Would not
Conservati Democratic| Quebecois [ Party People's |other party | vote/None | Know/Not
ve Party Party (8Q) Party of /Would
(NDP) Canada spoil ballot
A B C D E F G H | J K L M N 0 P Q R
Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183
Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
613 320 292 212 210 191 93 172 188 159 146 211 121 44 24 10 a4 6 48
Top 2 Box (Net) 41% 46% 37% 49% 38% 37% 44% 43% 37% 44% 40% 53% 44% 48% 49% 26% 26% 10% 24%
B DE * H QR JLOR QR QR* ** b ** *
170 101 69 50 67 53 24 54 55 37 49 52 28 10 5 6 3 3 15
Strongly agree 11% 15% 9% 12% 12% 10% 11% 13% 11% 10% 13% 13% 10% 10% 11% 15% 22% 6% 7%
443 219 224 162 143 138 69 118 133 122 97 159 93 35 19 4 1 3 33
Somewhat agree 30% 32% 28% 38% 26% 27% 33% 30% 26% 34% 27% 40% 34% 37% 38% 11% 3% 5% 17%
DE * H QR Jar QR QR* ** b ** *
871 374 497 216 336 319 117 228 322 204 218 187 154 49 25 28 11 50 149
Bottom 2 Box (Net) 59% 54% 63% 51% 62% 63% 56% 57% 63% 56% 60% 47% 56% 52% 51% 74% 74% 90% 76%
A C C * I K K * ** ** ** JKLM* JKLM
506 202 304 142 188 175 66 140 174 125 127 111 88 29 19 11 3 25 92
Somewhat disagree 34% 29% 39% 33% 35% 34% 32% 35% 34% 34% 35% 28% 32% 31% 39% 29% 23% 45% 47%
365 172 193 74 147 144 51 88 148 79 91 76 66 20 6 17 8 25 57
Strongly disagree 25% 25% 24% 17% 27% 28% 24% 22% 29% 22% 25% 19% 24% 21% 12% 45% 51% 45% 29%
1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




To what extent do you agree or disagree with the following statements? - Leaders’ performance at the debates has changed my intended vote

Total [ Female 18-34 3554 55+ <HS HS PostSec | UnivGrad |  The TheNew | TheBloc | TheGreen | The Orsome | Would not
Conservati Democratic| Quebecois | Party | People's |other party | vote/None | Know/Not
ve Party Party (8Q) Party of /Would
(NDP) Canada spoil ballot
A B C D E F G H | ) K L M N o P Q R
Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183
Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
328 153 174 152 103 73 55 91 90 92 72 94 67 19 20 9 - 3 a4
Top 2 Box (Net) 22% 2% 2% 36% 19% 14% 26% 23% 18% 25% 20% 24% 24% 20% 1% 24% - 5% 22%
DE B H Q Q Q a - - - - Q
53 26 27 21 2 10 - 16 23 14 14 14 14 3 3 - - 1 4
Strongly agree 4% % 3% 5% 4% 2% - 2% 4% 4% 4% 4% 5% 3% 6% - - 2% 2%
* * - = - *
275 127 148 131 81 62 55 75 67 77 58 80 53 16 17 9 - 2 40
Somewhat agree 19% 18% 19% 31% 15% 12% 26% 19% 13% 21% 16% 20% 19% 17% 35% 24% - 3% 21%
DE H* H H Q Q Q Q* ** ** ** * Q
1156 541 615 276 442 438 155 308 420 272 292 304 208 75 29 29 15 53 153
Bottom 2 Box (Net) 78% 78% 78% 64% 81% 86% 74% 77% 82% 75% 80% 76% 76% 80% 59% 76% 100% 95% 78%
C c * | * - = - TKLMR*
568 249 319 169 216 182 66 167 202 133 133 152 106 34 17 11 1 22 93
Somewhat disagree 38% 36% 40% 40% 40% 36% 31% 2% 40% 37% 37% 38% 39% 36% 35% 28% 3% 40% 47%
* 0 - - - -
588 292 296 106 226 255 89 141 218 139 159 152 102 41 12 18 14 30 60
Strongly disagree 40% 2% 38% 25% 41% 50% 42% 35% 43% 38% 44% 38% 37% 44% 24% 48% 97% 55% 30%
C =) * s R * - = - R*
1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




How do you plan on voting?

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The New | TheBloc | The Green The Orsome | Would not
Conservati Democratic| Quebecois [ Party People's |other party | vote/None | Know/Not
ve Party Party (8Q) Party of /Would
(NDP) Canada spoil ballot
A B C D E F G H |
Base: Those Who Have Not Yet Voted (unwtd) 800 336 464 185 361 254 32 121 374 273 199 252 235 60 27 19 7 - 1
Base: Those Who Have Not Yet Voted (wtd) 779 370 409 227 297 255 107 204 282 185 217 247 201 48 33 19 13 - 1
434 200 234 127 169 138 40 112 172 109 139 136 96 28 22 7 a4 - 1
In person on election day 56% 54% 57% 56% 57% 54% 37% 55% 61% 59% 64% 55% 48% 59% 67% 38% 33% - 100%
195 86 109 52 68 75 23 48 70 54 51 64 49 15 7 4 4 - -
In person at the advance poll 25% 23% 27% 23% 23% 30% 21% 23% 25% 29% 23% 26% 25% 31% 22% 20% 33% - -
59 34 25 20 22 17 14 18 15 11 6 21 27 1 3 1 1 - -
Mail-in ballot 8% 9% 6% 9% 7% 7% 13% 9% 5% 6% 3% 8% 13% 1% 9% 4% 10% - -
92 51 41 29 38 25 31 26 25 11 21 26 29 5 1 7 3 - -
Not sure 12% 14% 10% 13% 13% 10% 29% 13% 9% 6% 10% 11% 14% 9% 2% 39% 24% - -
779 370 409 227 297 255 107 204 282 185 217 247 201 48 33 19 13 - 1
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100%




In your opinion what would be the best outcome for Canada from this election - a minority

or a majority

Conservati Democratic| Quebecois [ Party People's |other party | vote/None | Know/Not
ve Party Party (8Q) Party of /Would
(NDP) Canada spoil ballot
A B C D E F G H | J K L M N 0 P Q R
Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183
Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
601 322 279 166 219 215 56 160 221 164 221 229 77 15 10 14 6 5 24
A majority government 41% 46% 35% 39% 40% 42% 27% 40% 43% 45% 61% 58% 28% 17% 21% 38% 37% 8% 12%
B * F F LMQR LMQR MQR * ** b ** *
475 252 223 113 175 187 57 110 166 141 98 110 114 70 20 9 2 14 39
A minority government 32% 36% 28% 26% 32% 37% 27% 28% 33% 39% 27% 28% 41% 75% 41% 24% 10% 25% 20%
B C * GH JKR JKLQR* ** ** ** *
408 120 287 148 151 108 97 129 123 59 45 59 84 8 19 14 8 37 134
Don't know/ Not sure 27% 17% 36% 35% 28% 21% 46% 32% 24% 16% 12% 15% 31% 9% 38% 38% 53% 66% 68%
A E E HI* HI I JKM * ** b ** JKLM* JKLM
1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




If the Liberal Party does not win a majority or minority, which party would be best suited to lead the next government?

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The New The Bloc | The Green The Orsome | Would not
Conservati Democratic| Quebecois [ Party People's |other party | vote/None | Know/Not
ve Party Party (8Q) Party of /Would
(NDP) Canada spoil ballot
A B C D E F G H | J K L M N 0 P Q R
Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183
Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
478 258 220 108 177 193 42 106 187 142 316 81 8 33 2 13 6 4 16
The Conservative Party 32% 37% 28% 25% 33% 38% 20% 27% 37% 39% 87% 20% 3% 36% 4% 34% 37% 7% 8%
B C C * FG FG KLMQR LR KLQR* ** o ** * L
467 213 254 169 169 130 58 118 164 126 15 175 237 9 13 - - 6 14
The New Democratic Party (NDP) 32% 31% 32% 39% 31% 25% 28% 30% 32% 35% 4% 44% 86% 9% 26% - - 11% 7%
DE * JMQR JKMQR * ** ** ** *
28 10 18 5 9 14 6 9 12 2 - 6 1 20 - - - 1 1
The Bloc Québécois (BQ) 2% 1% 2% 1% 2% 3% 3% 2% 2% * - 2% * 22% - - - 1% *
58 34 25 20 26 12 14 17 15 12 - 25 1 1 27 - - 1 3
The Green Party 4% 5% 3% 5% 5% 2% 7% 4% 3% 3% - 6% * 1% 56% - - 1% 1%
27 16 11 3 19 5 13 3 9 2 7 - - - 1 18 - 1 1
People's Party of Canada 2% 2% 1% 1% 4% 1% 6% 1% 2% 1% 2% - - - 2% 47% - 2% *
11 4 7 6 1 4 3 4 2 1 2 1 - - 1 - 8 - -
Other 1% 1% 1% 1% * 1% 2% 1% * * 1% * - - 2% - 50% - -
5 1 4 - 1 4 3 - 1 1 - 4 - - - - - 1 -
Nothing * . * - * 1% 2% - * * - 1% - - - - - 1% -
408 158 250 116 143 149 69 141 121 77 24 106 29 30 5 7 2 43 163
Don't Know/Not sure/ Not Stated 28% 23% 32% 27% 26% 29% 33% 35% 24% 21% 7% 27% 11% 32% 10% 19% 12% 77% 83%
A * HI I o ** o ** JKLM* JKLM
1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




If the Liberal Party does not win a majority or minority, which party would be best suited to lead the next government?

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The New | TheBloc | The Green The Orsome | Would not
Conservati Democratic| Quebecois [ Party People's |other party | vote/None | Know/Not
ve Party Party (8Q) Party of /Would
(NDP) Canada spoil ballot
A B C D E F G H | J K L M N 0 P Q R
Base: All Answering - Excluding DK (unwtd) 1122 517 605 268 484 370 42 157 506 417 320 307 302 71 35 26 8 13 40
Base: All Answering - Excluding DK (wtd) 1079 539 540 312 404 363 141 261 390 287 340 293 246 64 44 31 14 14 33
478 258 220 108 177 193 42 106 187 142 316 81 8 33 2 13 6 4 16
The Conservative Party 44% 48% 41% 35% 44% 53% 30% 41% 48% 50% 93% 28% 3% 53% 4% 42% 41% 27% 48%
B C cD * F F KLMR L KL* ** b ** b KL*
467 213 254 169 169 130 58 118 164 126 15 175 237 9 13 - - 6 14
The New Democratic Party (NDP) 43% 39% 47% 54% 42% 36% 41% 45% 42% 44% 4% 60% 96% 14% 29% - - 42% 41%
A DE * JMR JKMR J* ** ** ** ** m*
28 10 18 5 9 14 6 9 12 2 - 6 1 20 - - - 1 1
The Bloc Québécois (BQ) 3% 2% 3% 2% 2% 4% 4% 3% 3% 1% - 2% * 32% - - - 4% 2%
58 34 25 20 26 12 14 17 15 12 - 25 1 1 27 - - 1 3
The Green Party 5% 6% 5% 7% 6% 3% 10% 7% 4% 4% - 9% 1% 1% 63% - - 5% 8%
a7 24 22 9 23 14 20 10 12 5 9 6 - - 2 18 8 3 1
Or some other party 4% 5% 4% 3% 6% 4% 14% 4% 3% 2% 3% 2% - - 4% 58% 59% 22% 2%
1079 539 540 312 404 363 141 261 390 287 340 293 246 64 44 31 14 14 33
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




To what extent do you agree or disagree with the following statements: - If Justin Trudeau and the Liberals don't win a majority government, Trudeau should resign as party leader

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The New | TheBloc | The Green The Orsome | Would not
Conservati Democratic| Quebecois [ Party People's |other party | vote/None | Know/Not
ve Party Party (8Q) Party of /Would
(NDP) Canada spoil ballot
A B C D E F G H | J K L M N 0 P Q R
Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183
Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
872 423 450 254 326 293 152 239 286 195 310 132 157 55 31 37 15 32 102
Top 2 Box (Net) 59% 61% 57% 59% 60% 57% 72% 60% 56% 54% 85% 33% 57% 59% 63% 98% 100% 59% 52%
HI* KLMQR K K* ** b ** K* K
493 251 242 124 187 183 94 135 170 95 238 36 80 33 9 31 8 10 49
Strongly agree 33% 36% 31% 29% 34% 36% 45% 34% 33% 26% 65% 9% 29% 35% 18% 81% 53% 18% 25%
1* I I KLMQR K K* ** ** ** * K
379 171 208 130 139 110 58 104 116 100 73 96 78 22 22 7 7 22 53
Somewhat agree 26% 25% 26% 30% 26% 22% 28% 26% 23% 28% 20% 24% 28% 23% 45% 17% 47% 40% 27%
611 271 339 174 219 217 58 160 224 169 53 265 118 39 18 1 - 23 94
Bottom 2 Box (Net) 41% 39% 43% 41% 40% 43% 28% 40% 44% 46% 15% 67% 43% 41% 37% 2% - 41% 48%
* F F JLMQR J J* ** ** ** J* J
382 182 200 115 137 131 32 99 141 109 32 133 84 30 14 - - 15 74
Somewhat disagree 26% 26% 25% 27% 25% 26% 15% 25% 28% 30% 9% 33% 31% 33% 29% - - 27% 38%
229 89 140 60 82 87 26 61 82 60 21 132 34 8 4 1 - 8 21
Strongly disagree 15% 13% 18% 14% 15% 17% 12% 15% 16% 16% 6% 33% 12% 9% 8% 2% - 15% 10%
1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




To what extent do you agree or disagree with the following statements: - If Justin Trudeau and the Liberals don’t win the most seats, Trudeau should resign as leader

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The New The Bloc | The Green The Orsome | Would not
Conservati Democratic| Quebecois [ Party People's |other party | vote/None | Know/Not
ve Party Party (8Q) Party of /Would
(NDP) Canada spoil ballot
A B C D E F G H | J K L M N 0 P Q R
Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183
Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
843 401 442 233 327 282 138 235 281 189 308 115 153 56 26 37 12 32 103
Top 2 Box (Net) 57% 58% 56% 55% 60% 55% 66% 59% 55% 52% 85% 29% 55% 61% 54% 97% 79% 58% 53%
1* KLMQR K K* ** b ** K* K
480 239 241 117 190 173 80 138 174 89 235 34 83 29 9 31 8 7 45
Strongly agree 32% 34% 31% 27% 35% 34% 38% 34% 34% 25% 65% 9% 30% 31% 18% 81% 53% 13% 23%
C * 1 I KLMQR KQ KQ* ** ** ** * K
363 161 201 116 138 109 58 97 108 100 73 81 70 28 18 6 4 25 58
Somewhat agree 24% 23% 26% 27% 25% 21% 28% 24% 21% 27% 20% 20% 25% 30% 37% 16% 26% 45% 30%
640 293 347 194 218 228 72 164 228 175 55 282 123 37 22 1 3 24 93
Bottom 2 Box (Net) 43% 42% 44% 45% 40% 45% 34% 41% 45% 48% 15% 71% 45% 39% 46% 3% 21% 42% 47%
* F JLMQR J J* ** ** ** J* J
414 198 215 125 146 143 41 106 149 118 33 151 93 30 16 * 3 14 73
Somewhat disagree 28% 29% 27% 29% 27% 28% 19% 27% 29% 33% 9% 38% 34% 32% 33% 1% 21% 25% 37%
226 95 132 70 72 85 32 58 80 56 22 131 30 7 6 1 - 10 20
Strongly disagree 15% 14% 17% 16% 13% 17% 15% 15% 16% 15% 6% 33% 11% 8% 12% 2% - 18% 10%
1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




To what extent do you agree or disagree with the following statements: - If Erin O’Toole and the Conservatives don't win the most seats, O'Toole should resign as party leader

T Ewm
Total Male Female | 1834 35-54 55+ <HS HS PostSec | UnivGrad |  The TheNew | TheBloc | TheGreen | The Orsome | Would not
Conservati Democratic| Quebecois [ Party | People's |other party | vote/None | Know/Not
ve Party Party (8Q) Party of /Would
(NDP) Canada spoil ballot
A [ c D E F G H |

J K L M N o P Q R
Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183
Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
743 357 385 209 269 265 121 201 244 177 127 240 148 39 34 25 9 37 83
Top 2 Box (Net) 50% 51% 49% 49% 49% 52% 57% 50% 48% 49% 35% 60% 54% 42% 71% 66% 62% 66% 42%
. MR R . o - o IMR*
348 174 174 89 137 123 58 98 120 73 48 133 86 16 12 12 5 9 28
Strongly agree 23% 25% 2% 21% 25% 24% 28% 24% 23% 20% 13% 33% 31% 17% 24% 32% 35% 16% 14%
- IMQR IMR - = - = .
394 183 211 119 133 142 62 103 125 104 79 107 62 23 23 13 4 28 55
Somewhat agree 27% 26% 27% 28% 24% 28% 30% 26% 25% 29% 22% 27% 23% 25% 47% 34% 26% 50% 28%
. . - - o JKLMR*
741 337 404 219 276 246 90 199 265 187 236 157 127 54 14 13 6 19 114
Bottom 2 Box (Net) 50% 49% 51% 51% 51% A48% 43% 50% 52% 51% 65% 40% 46% 58% 29% 34% 38% 34% 58%
- KQ KQ* = - = . KLa
529 225 304 142 202 186 52 142 195 141 147 109 94 49 14 9 5 16 87
Somewhat disagree 36% 32% 39% 33% 37% 36% 25% 36% 38% 39% 40% 27% 34% 52% 28% 25% 32% 30% 44%
A . F F K KLa* o - o - K
211 111 100 78 74 60 38 57 71 46 90 49 33 6 1 3 1 2 27
strongly disagree 14% 16% 13% 18% 14% 12% 18% 14% 14% 13% 25% 12% 12% 6% 1% 9% 7% 4% 14%
E - KLMQR - = - = .
1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




To what extent do you agree or disagree with the following statements: - If Jagmeet Singh and the NDP don't win the most seats, Singh should resign as party leader

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The New The Bloc | The Green The Orsome | Would not
Conservati Democratic| Quebecois [ Party People's |other party | vote/None | Know/Not
ve Party Party (8Q) Party of /Would
(NDP) Canada spoil ballot
A B C D E F G H | J K L M N 0 P Q R
Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183
Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
544 284 260 139 209 196 93 154 172 125 183 143 36 47 16 17 10 24 69
Top 2 Box (Net) 37% 41% 33% 32% 38% 38% 44% 39% 34% 34% 50% 36% 13% 50% 34% 46% 65% 43% 35%
B * KLR L KLR* ** b ** L* L
229 139 91 62 92 75 40 68 72 49 91 61 16 12 5 14 6 5 19
Strongly agree 15% 20% 11% 14% 17% 15% 19% 17% 14% 13% 25% 15% 6% 13% 11% 37% 38% 8% 10%
315 145 169 77 117 121 53 87 100 76 93 81 20 34 11 3 a4 19 49
Somewhat agree 21% 21% 21% 18% 21% 24% 25% 22% 20% 21% 26% 20% 7% 37% 22% 8% 27% 35% 25%
939 410 529 289 336 314 118 245 338 239 180 255 240 47 32 21 5 32 128
Bottom 2 Box (Net) 63% 59% 67% 68% 62% 62% 56% 61% 66% 66% 50% 64% 87% 50% 66% 54% 35% 57% 65%
A * M JKMQR * ** ** ** * M
592 258 334 176 214 202 68 150 218 155 135 155 103 37 26 16 a4 26 90
Somewhat disagree 40% 37% 42% 41% 39% 40% 32% 38% 43% 43% 37% 39% 37% 39% 53% 43% 30% 47% 46%
347 152 195 113 122 112 49 95 119 84 45 100 136 10 6 4 1 5 38
Strongly disagree 23% 22% 25% 26% 22% 22% 23% 24% 23% 23% 12% 25% 50% 11% 13% 11% 5% 10% 19%
1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




To what extent do you agree or disagree with the following statements? - | hope somebody wins a majority government so that we don't have another election for a while

Y N ==
Total Male Female | 1834 35-54 55+ <HS HS PostSec | UnivGrad |  The TheNew | TheBloc | TheGreen | The Orsome | Would not
Conservati Democratic| Quebecois [ Party | People's |other party | vote/None | Know/Not
ve Party Party (8Q) Party of /Would
(NDP) Canada spoil ballot
A [ c D E F G H |

J K L M N o P Q R
Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183
Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
1032 484 548 289 381 362 151 292 345 244 280 319 180 39 35 22 8 34 114
Top 2 Box (Net) 70% 70% 69% 67% 70% 71% 72% 73% 68% 67% 77% 80% 65% 42% 71% 58% 52% 62% 58%
. LMR LMQR ™M . o - o - ™M
473 253 220 130 185 159 91 123 161 99 161 143 86 21 9 6 4 10 33
Strongly agree 32% 36% 28% 30% 34% 31% 43% 31% 32% 27% 44% 36% 31% 22% 19% 17% 25% 19% 17%
B * KLMQR MQR R * = ** = *
558 231 328 159 196 203 60 169 184 146 118 177 94 19 25 16 4 24 82
Somewhat agree 38% 33% 42% 37% 36% 40% 28% 42% 36% 40% 33% 44% 34% 20% 52% 41% 27% 43% 42%
A . ™M o ™M . - - o M* ™M
452 210 241 139 164 148 60 108 164 120 83 79 95 54 14 16 7 21 82
Bottom 2 Box (Net) 30% 30% 31% 33% 30% 29% 28% 27% 32% 33% 23% 20% 35% 58% 29% 42% 48% 38% 42%
* K JKLR* ** ** ** K* JK
352 165 187 111 124 117 45 81 133 93 74 68 64 40 1 14 3 15 62
Somewhat disagree 24% 24% 24% 26% 23% 23% 21% 20% 26% 26% 20% 17% 23% 43% 23% 36% 23% 27% 31%
. KLY o - o - K
100 46 54 28 40 31 15 27 31 26 9 10 31 14 3 2 4 6 21
strongly disagree 7% 7% 7% % 7% 6% 7% % 6% % 2% 3% 11% 15% 6% 6% 25% 12% 11%
- I Ira = - = Ira K
1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




To what extent do you agree or disagree with the following statements? - | would be happy with a minority government as a result of this election

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The New The Bloc | The Green The Orsome | Would not
Conservati Democratic| Quebecois [ Party People's |other party | vote/None | Know/Not
ve Party Party (8Q) Party of /Would
(NDP) Canada spoil ballot
A B C D E F G H | J K L M N 0 P Q R
Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183
Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
876 406 470 239 332 306 102 208 313 253 179 242 187 74 36 14 5 29 110
Top 2 Box (Net) 59% 59% 60% 56% 61% 60% 49% 52% 61% 70% 49% 61% 68% 80% 74% 37% 34% 52% 56%
* G FGH J JR JKQR* ** b ** *
215 114 101 57 83 74 26 50 71 69 40 58 49 31 8 3 * 3 24
Strongly agree 14% 16% 13% 13% 15% 15% 12% 12% 14% 19% 11% 15% 18% 33% 16% 8% 3% 5% 12%
* GH Ja JKLQR* ** ** ** *
661 292 370 182 248 232 77 159 242 185 140 184 138 44 28 11 5 26 86
Somewhat agree 45% 42% 47% 43% 45% 45% 36% 40% 47% 51% 38% 46% 50% 47% 58% 29% 31% 47% 44%
607 288 319 189 214 204 108 191 197 111 184 156 88 19 13 24 10 27 87
Bottom 2 Box (Net) 41% 41% 40% A44% 39% 40% 51% 48% 39% 30% 51% 39% 32% 20% 26% 63% 66% 48% 44%
* HI | KLM M * ** ** ** M* ™M
441 195 246 136 153 152 75 135 141 90 125 116 70 18 11 18 a4 9 71
Somewhat disagree 30% 28% 31% 32% 28% 30% 36% 34% 28% 25% 34% 29% 25% 19% 22% 47% 27% 17% 36%
166 93 73 53 60 52 33 56 56 21 59 39 19 1 2 6 6 17 16
Strongly disagree 11% 13% 9% 12% 11% 10% 15% 14% 11% 6% 16% 10% 7% 1% 4% 16% 39% 31% 8%
B * 1 | KLMR M * ** ** ** JKLMR* M
1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




To what extent do you agree or disagree with the following statements? - | feel safe going to a polling place to cast my ballot

Conservati Democratic| Quebecois [ Party People's |other party | vote/None | Know/Not
ve Party Party (8Q) Party of /Would
(NDP) Canada spoil ballot
A B C D E F G H | J K L M N 0 P Q R
Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183
Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
1158 539 619 319 421 417 158 290 414 297 301 346 210 81 36 35 13 26 110
Top 2 Box (Net) 78% 78% 78% 75% 77% 82% 75% 72% 81% 82% 83% 87% 76% 87% 75% 93% 88% 46% 56%
C * G G QR LaR QR QR* ** b ** *
618 278 340 174 225 219 87 156 219 156 182 186 103 44 16 25 10 10 42
Strongly agree 42% 40% 43% 41% 41% 43% 41% 39% 43% 43% 50% 47% 37% 47% 33% 67% 67% 18% 22%
* LQR LQR QR QRrR* ** ** ** *
540 262 279 146 196 198 71 134 195 141 119 160 107 37 20 10 3 16 68
Somewhat agree 36% 38% 35% 34% 36% 39% 34% 33% 38% 39% 33% 40% 39% 40% 42% 26% 21% 28% 35%
325 155 171 109 124 93 52 110 96 67 63 52 65 12 12 3 2 30 86
Bottom 2 Box (Net) 22% 22% 22% 25% 23% 18% 25% 28% 19% 18% 17% 13% 24% 13% 25% 7% 12% 54% 44%
E * HI K * ** ** ** JKLM* JKLM
218 101 117 77 72 69 27 77 63 52 47 35 42 6 10 2 - 17 59
Somewhat disagree 15% 15% 15% 18% 13% 14% 13% 19% 12% 14% 13% 9% 15% 7% 20% 6% - 30% 30%
* H K * ** b ** JKLM* JKLM
107 54 53 32 51 24 26 33 33 16 16 17 24 6 3 1 2 13 27
Strongly disagree 7% 8% 7% 7% 9% 5% 12% 8% 6% 4% 4% 4% 9% 6% 5% 2% 12% 24% 14%
E * 1 K * ** ** ** JKLM* JK
1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




